POSITIVELY QUADRANT DEPENDENT BIVARIATE DISTRIBUTIONS WITH GIVEN MARGINALS

József Reimann

Department of Mathematics, Faculty of Civil Engineering Technical University of Budapest H-1521 Budapest, Hungary

Received: June 2, 1992

Abstract

Several measures for dependence of two random variables are investigated in the case of given marginals and assuming positively quadrant dependence. Beyond known quantities (Spearman, Pearson correlation coefficient, etc.) new measures are introduced here and compared with the others. Approximate values of P.Q.D. bivariate distributions are calculated. A practical application in the hydrology of flood peaks is included.

Keywords: positively quadrant dependence, bivariate distributions, approximate values.

1.Investigation of Some Nonparametric Measures of Association in Case of a Positively Quadrant Dependence

There are very many possibilities to construct measures of association and a lot of them have been proposed. Among the most familiar measures we mention the following nonparametric ones:

$$r = \frac{\int_{-\infty}^{\infty} \int_{-\infty}^{\infty} (H - FG) dx dy}{\sigma_1 \sigma_2}$$
 (correlation coefficient Pearson)) (1.1)

$$\varrho = 12 \int_{-\infty}^{\infty} \int_{-\infty}^{\infty} (H - FG) f y dx dy = \frac{\int_{-\infty}^{\infty} \int_{-\infty}^{\infty} (H - FG) f y dx dy}{\int_{-\infty}^{\infty} \int_{-\infty}^{\infty} [\min(F, G) - FG] f y dx dy}$$
(Spearman) (1.2)

$$\tau = 4 \int_{-\infty}^{\infty} \int_{-\infty}^{\infty} Hh dx dy - 1 = \frac{1}{3} \frac{\int_{-\infty}^{\infty} \int_{-\infty}^{\infty} (Hh - FGfg) dx dy}{\int_{-\infty}^{\infty} \int_{-\infty}^{\infty} [\min(F, G) - FG] fg dx dy}$$
(Kendall) (1.3)

408

$$\mu = 90 \int_{-\infty}^{\infty} \int_{-\infty}^{\infty} (H - FG)^2 f g dx dy = \frac{\int_{-\infty}^{\infty} \int_{-\infty}^{\infty} (H - FG)^2 f g dx dy}{\int_{-\infty}^{\infty} \int_{-\infty}^{\infty} [\min(F, G) - FG]^2 f g dx dy}$$
(Höeffding) (1.4)

$$\gamma = \sqrt{\mu}$$
 (Blum-Kiefer-Rosenblatt) (1.5)

$$q = 4H(\tilde{x}_{\frac{1}{2}}, \tilde{y}_{\frac{1}{2}}) - 1 = \frac{H(\tilde{x}_{\frac{1}{2}}, \tilde{y}_{\frac{1}{2}}) - F(\tilde{x}_{\frac{1}{2}})G(\tilde{y}_{\frac{1}{2}})}{\min[F(\tilde{x}_{\frac{1}{2}})G(\tilde{y}_{\frac{1}{2}})] - F(\tilde{x}_{\frac{1}{2}})G(\tilde{y}_{\frac{1}{2}})}$$
(Blomqvist) (1.6)

$$\mathcal{K} = 4 \sup_{(x,y)} |H(x,y) - F(x)G(y)| \qquad \text{(Schweizer-Wolff)}$$
 (1.7)

It is not difficult to construct other measures. For the case of a positively quadrant dependence beyond (1.1)–(1.7.) we propose the following further measures:

$$\nu = 90 \int_{-\infty}^{\infty} \int_{-\infty}^{\infty} (H - FG)[\min(F, G) - FG]fgdxdy =$$

$$= \frac{\int_{-\infty}^{\infty} \int_{-\infty}^{\infty} (H - FG)[\min(F, G) - FG]fgdxdy}{\int_{-\infty}^{\infty} \int_{-\infty}^{\infty} [\min(F, G) - FG]^{2}fgdxdy}$$

$$\omega = \int_{-\infty}^{\infty} \int_{-\infty}^{\infty} \frac{H - FG}{\sqrt{F(1 - F)G(1 - G)}}fgdxdy$$

$$(1.9)$$

$$\lambda^{**} = \frac{\int\limits_{-\infty}^{\infty} \int\limits_{-\infty}^{\infty} (H - FG) dx dy}{\int\limits_{-\infty}^{\infty} \int\limits_{-\infty}^{\infty} [\min(F, G) - FG] dx dy} = \frac{r}{r_{+}}.$$
 (1.10)

where r_t is the correlation coefficient if the joint distribution of X and Y is $H(x,y) = \min(F(x), G(y))$. For different H the values of the mentioned measures depend on H in a fairly simple way. Some relations among them are contained in the following proposition.

PROPOSITION 1
$$\lambda^* \geq \frac{\varrho}{3} \qquad (1.11) \qquad \tau \geq \frac{\varrho}{3} \qquad (1.15) \\ \lambda^{**} \geq r \qquad (1.12) \qquad \mu \geq 0.625 \varrho^2 \qquad (1.16) \\ \mu \leq \nu \leq \gamma = \sqrt{\mu} \qquad (1.13) \qquad \gamma \geq \frac{\sqrt{90}}{12} \varrho \qquad (1.17) \\ \lambda^* \geq \omega \qquad (1.14) \qquad \lambda^* \geq 0.625 \varrho^2 \qquad (1.18)$$

PROOF:

(1.11) follows from the fact that $\min(F, G) - FG = \frac{1}{4}$; namely

in case
$$F \leq G$$
, $\min(F, G) - FG = F(1 - G) \leq F(1 - F) \leq \frac{1}{4}$

in case
$$F > G$$
, $\min(F, G) - FG = G(1 - F) \le G(1 - G) \le \frac{1}{4}$

$$\lambda^* = \int\limits_{-\infty}^{\infty} \int\limits_{-\infty}^{\infty} \frac{H - FG}{\min(F, G) - FG} fg dx dy \ge 4 \int\limits_{-\infty}^{\infty} \int\limits_{-\infty}^{\infty} (H - FG) fg dx dy = \frac{\varrho}{3}$$

(1.12) follows from the fact that $r_{+} = \frac{1}{\sigma_{1},\sigma_{2}} \int_{-\infty}^{\infty} \int_{-\infty}^{\infty} [\min(F,G) - FG] dx dy \leq$ 1 (1.13) is a consequence of the inequality of Schwarz. Namely

$$\int_{-\infty}^{\infty} \int_{-\infty}^{\infty} (H - FG)[\min(F, G) - FG]fgdxdy \le$$

$$\leq \left[\int\limits_{-\infty}^{\infty}\int\limits_{-\infty}^{\infty}(H-FG)^2fgdxdy\right]\left[\int\limits_{-\infty}^{\infty}\int\limits_{-\infty}^{\infty}\left[\min(F,G)-FG\right]^2fgdxdy\right]^{\frac{1}{2}},$$

hence

$$\frac{\nu}{90} \le \frac{\sqrt{\mu}}{\sqrt{90}} \cdot \frac{1}{\sqrt{90}}$$
, i. e. $\nu \le \sqrt{\mu} = \gamma$

further

$$\begin{split} \frac{\nu}{90} &= \int\limits_{-\infty}^{\infty} \int\limits_{-\infty}^{\infty} (H - FG) [\min(F, G) - FG] fg dx dy \geq \\ &\geq \int\limits_{-\infty}^{\infty} \int\limits_{-\infty}^{\infty} (H - FG)^2 fg dx dy = \frac{\mu}{90}. \end{split}$$

(1.14) follows from the fact that if $F \leq G$, then $1 - F \geq 1 - G$, i. e.

$$\sqrt{F(1-G)} \le \sqrt{G(1-F)},$$

$$F(1-G) \le \sqrt{F(1-F)G(1-G)}$$

and if $F \geq G$

$$G(1-F) \leq \sqrt{F(1-F)G(1-G)}$$

consequently

$$\lambda^* = \int\limits_{F \leq G} \int\limits_{F \leq G} \frac{H - FG}{F(1 - G)} fg dx dy + \int\limits_{F > G} \int\limits_{F > G} \frac{H - FG}{G(1 - F)} fg dx dy \geq$$

$$\geq \int_{-\infty}^{\infty} \int_{-\infty}^{\infty} \frac{H - FG}{\sqrt{F(1 - F)G(1 - G)}} fg dx dy = \omega.$$

To see (1.15) we have to compare

$$\tau = 4 \int_{-\infty}^{\infty} \int_{-\infty}^{\infty} Hh dx dy - 4 \int_{-\infty}^{\infty} \int_{-\infty}^{\infty} FGfg dx dy$$

and

$$\frac{\varrho}{3} = 4 \int_{-\infty}^{\infty} \int_{-\infty}^{\infty} Hfgdxdy - 4 \int_{-\infty}^{\infty} \int_{-\infty}^{\infty} FGfgdxdy.$$

For H > G, the relation

$$\int\limits_{-\infty}^{\infty}\int\limits_{-\infty}^{\infty}Hfgdxdy=\int\limits_{-\infty}^{\infty}\int\limits_{-\infty}^{\infty}FGhdxdy\leq\int\limits_{-\infty}^{\infty}\int\limits_{-\infty}^{\infty}Hhdxdy$$

is valid and it follows that

$$\tau \leq \frac{\varrho}{3}$$
.

(1.16) is a consequence of Schwarz inequality according to which

$$\left[\int_{-\infty}^{\infty}\int_{-\infty}^{\infty}(H-FG)fgdxdy\right]^{2}\leq\int_{-\infty}^{\infty}\int_{-\infty}^{\infty}(H-FG)^{2}fgdxdy\cdot\int_{-\infty}^{\infty}\int_{-\infty}^{\infty}1^{2}fgdxdy$$

and

$$\left(\frac{\varrho}{12}\right)^2 \le \frac{\mu}{90},$$

hence

$$\mu \ge \frac{90}{144}\varrho^2 = 0.625\varrho^2$$

and

$$\gamma = \sqrt{\mu} \ge \frac{\sqrt{90}}{12} \varrho.$$

2. Approximate Values of a Two-dimensional cdf H in case of Positively Quadrant Dependence

Let H the joint cdf of the pair of random variables X and Y, and let the marginal cdf-s F and G, respectively. We suppose that

$$H \geq FG$$
.

We shall compare the probability of any quadrant X < x, Y < y under the distribution H with the corresponding probability under the distribution $H = \lambda \min(F, G) + (1 - \lambda)FG$ for suitably chosen value of λ .

First of all, we shall determine the value of λ , for which relation:

$$\varphi(\lambda) = \int_{-\infty}^{\infty} \int_{-\infty}^{\infty} (H_{\lambda} - H)^2 f g dx dy = \min$$
 (2.1)

holds.

As $H_{\lambda} - H = (H_{\lambda} - FG) - (H - FG)$ the minimum problem can be written in the following form:

$$\varphi(\lambda) = \int_{-\infty}^{\infty} \int_{-\infty}^{\infty} [(H_{\lambda} - FG) - (H - FG)]^{2} fg dx dy =$$

$$= \lambda^{2} \int_{-\infty}^{\infty} \int_{-\infty}^{\infty} [\min(F, G) - FG]^{2} fg dx dy -$$

$$- 2\lambda \int_{-\infty}^{\infty} \int_{-\infty}^{\infty} [\min(F, G) - FG][H - FG] fg dx dy +$$

$$+ \int_{-\infty}^{\infty} \int_{-\infty}^{\infty} (H - FG)^{2} fg dx dy = \min.$$
(2.2)

Due to (1.4) and (1.8) the equation (2.2) has the following form:

$$\varphi(\lambda) = \frac{\lambda^2}{90} - \frac{2\lambda\nu}{90} + \frac{\mu}{90}.$$
 (2.3)

The function $\varphi(\lambda)$ takes its minimum if

$$\varphi'(\lambda) = \frac{2\lambda - 2\nu}{90} = 0, \quad \text{i. e. if } \lambda = \nu.$$
 (2.4)

Then

$$\varphi(\nu) = \frac{\nu^2 - 2\nu^2 + \mu}{90} = \frac{\mu - \nu^2}{90}.$$
 (2.5)

By (1.13)

$$\nu^2 \le \mu \le \nu$$

Therefore

$$\varphi(\nu) \le \frac{\nu - \nu^2}{90} \le \frac{1}{360} \approx 0.0027.$$
(2.6)

It follows from (2.5) that the smaller the difference between μ and ν^2 , the better the approximation of H by H_{λ} is. If $H=H_{\lambda}$, then $\mu=\lambda^2$, $\nu=\lambda$, i. e. $\varphi(\nu)=0$.

Result (2.6) can be improved, the upper bound can be decreased. Using (1.13) put

$$\nu = \alpha \sqrt{\mu} + (1 - \alpha)\mu, \quad 0 \le \alpha = \frac{\nu - \mu}{\sqrt{\mu} - \mu} \le 1.$$

Then

$$\nu^{2} = \alpha^{2}\mu + 2\alpha(1-\alpha)\mu\sqrt{\mu} + (1-\alpha)^{2}\mu^{2} \ge$$

$$\ge \alpha^{2}\mu + 2\alpha(1-\alpha)\mu^{2} + (1-\alpha)^{2}\mu^{2} = \alpha^{2}\mu + (1-\alpha^{2})\mu^{2}.$$

Thus

$$\mu - \nu^2 \le \mu - \alpha^2 \mu - (1 - \alpha^2)\mu^2 = (1 - \alpha^2)(\mu - \mu^2).$$

Hence

$$\varphi(\nu) \le (1 - \alpha^2) \frac{\mu - \mu^2}{90} \le \frac{1 - \alpha^2}{360}.$$
(2.7)

As an example consider the distribution function

$$H = FG + \beta F(1 - F)G(1 - G)$$

introduced by D. MORGENSTERN (1956). This is a positively quadrant dependent if $0 \le \beta \le 1$.

An easy calculation shows that

$$\nu = \frac{17}{56}\beta \approx 0.3\beta; \quad \mu = \frac{\beta^2}{10}; \quad \sqrt{\mu} = \frac{\beta}{\sqrt{10}}.$$

One can easily see that

$$\varphi(\nu) = O(10^{-4}).$$

Remark 1

As $H_{\lambda} - FG = \lambda[\min(F, G) - FG]$ we can say that H_{λ} keeps the proportion between $\min(F, G)$ and FG.

Let us now introduce the following functions of the random variables X and Y:

$$U(X,Y) = \min[F(X), G(Y)] - H(X,Y);$$

$$V(X,Y) = H(X,Y) - F(X)G(Y);$$

$$Z(X,Y) = \min[F(X), G(Y)] - F(X)G(Y).$$
(2.8)

If $H = H_{\lambda} \ (0 \le \lambda \le 1)$ then

$$U_{\lambda} = (1 - \lambda)Z, \quad V_{\lambda} = \lambda Z \quad \text{and} \quad U_{\lambda} = \frac{1 - \lambda}{\lambda} V_{\lambda},$$
 (2.9)

i. e. between the random variables U_{λ} , V_{λ} and Z_{λ} there is a linear functional relationship. It follows that the correlation coefficients between the pairs (U_{λ}, Z) , (V_{λ}, Z) , $(U_{\lambda}, V_{\lambda})$ all are equal to 1.

$$r(U_{\lambda}, Z) = r(V_{\lambda}, Z) = r(U_{\lambda}, V_{\lambda}) = 1. \tag{2.10}$$

Remark 2

In practical problems the two-dimensional cdf. H is usually unknown, but in many cases we may suppose that its marginal cdf-s F and G are known. If we have a sample $(X_1, Y_1), (X_2, Y_2), \ldots (X_n, Y_n)$ we have the empirical two-dimensional cdf, $H_n(x, y)$ and by means of F and G, we have a sample for U, V and Z:

$$U^{(i)} = \min[F(X_i), G(Y_i)] - H_n(X_i, Y_i),$$

$$V^{(i)} = H_n(X_i, Y_i) - F(X_i)G(Y_i)$$

and

$$Z^{(i)} = \min F(X_i)G(Y_i) - F(X_i)G(Y_i), \quad (i=1,2,\ldots,n)$$

Year X(cm) $Y(\mathrm{day})$ Year $X(\mathsf{cm})$ Y(day)

Table 1

From this sample we can estimate the correlation coefficients in (5.10) and if their values are close to 1 then we may expect, that the approximation of H by H_{λ} 'good' or even we may accept that the null $H_0: H = H_{\lambda}$ holds.

Let us consider the following example taken from the flood hydrology. Example

For the River Tisza in the period 1900-1970 in the second quarter every year (1 Apr.- 30 June) above the level c=650 cm the following flood peaks were observed.

Testing the goodness of fit shows that the excedance X have the $cdf: F(x) = 1 - e^{-0.01x}$ and the duration of floods Y have the

$$cdf: G(y) = 1 - e^{-0.05y}.$$

For the joint bivariate distribution of the pair (X, Y) the sample was obtained from Table 1.

The value of the correlation coefficient between $V = H_n - FG$ and $Z = \min(F, G) - FG$ is $r(V, Z) \approx 0.9$ so we may accept the validity of hypothesis H_0 :

$$H = H_{\nu} = \nu \min[1 - e^{-0.01x}, 1 - e^{-0.05y}] +$$

$$+ (1 - \nu)(1 - e^{-0.01x})(1 - e^{-0.05y}).$$
(2.11)

Now the estimated value of ν is needed. For the $cdf\ H_{\nu}$ the value of ν agrees with the value of $q=4H_{\nu}-1$. The estimation of the value of q is very easy from the sample

$$\hat{q} = 4\frac{14}{31} - 1 \approx 0.8.$$

For comparison of the value of H_{ν} and the empirical $cdf\ H_n$ let us consider these values in the quartile-points $(\tilde{x}_{\frac{1}{4}}, \tilde{y}_{\frac{1}{4}}), (\tilde{x}_{\frac{1}{2}}, \tilde{y}_{\frac{1}{4}}), \dots (\tilde{x}_{\frac{3}{4}}, \tilde{y}_{\frac{3}{4}})$:

	H_{ν}	H_n	$(H_{\nu}-H_n)^2$
$(\tilde{x}_{\frac{1}{4}}, \tilde{y}_{\frac{1}{4}})$	0.2125	0.1935	0.000484
$(ilde{x}_{rac{1}{2}}^{rac{1}{2}}, ilde{y}_{rac{1}{4}}^{rac{1}{4}})$	0.225	0.1935	0.000992
$(\tilde{x}_{rac{3}{4}}^{rac{2}{4}}, ilde{y}_{rac{1}{4}}^{rac{4}{4}})$	0.225	0.1935	0.000992
$({ ilde x}_{rac{1}{4}}^4,{ ilde y}_{rac{1}{2}}^4)$	0.2376	0.1935	0.001945
$(\tilde{x}_{rac{1}{2}}^{rac{3}{2}}, \tilde{y}_{rac{1}{2}}^{rac{1}{2}})$	0.2376	0.1935	0.001945
$(ilde{x}_{rac{3}{4}}^{rac{7}{4}}, ilde{y}_{rac{1}{2}}^{rac{7}{4}})$	0.450	0.4516	0.000000
$(\tilde{x}_{rac{1}{4}}^{rac{2}{4}}, \tilde{y}_{rac{3}{4}}^{rac{2}{4}})$	0.475	0.4838	0.00007
$(ilde{x}_{rac{1}{2}}^{rac{3}{4}}, ilde{y}_{rac{3}{4}}^{rac{3}{4}})$	0.475	0.4838	0.00007
$(\tilde{x}_{\frac{3}{4}}, \tilde{y}_{\frac{3}{4}})$	0.712	0.680	0.00102

Table 2

Hence the mean-quadratical derivation between H_n and H_{ν} is

$$\frac{\sum_{1}^{9} (H_{\nu} - H_{n})^{2}}{9} \approx \int_{-\infty}^{\infty} \int_{-\infty}^{\infty} (H_{\nu} - H)^{2} f g dx dy = 0.00074$$

In our example above the sample size (n = 31) is not large enough for carrying out a test exactly, but the high value of r along with the tabulation heuristically suggests the validity of our inference.

3. A Quadratic Mean Deviation between Two Positively Quadrant Dependent Distribution Function

Denote by M_{FG} the set of all bivariate distribution functions H whose marginals are F and $G, H \geq FG$.

THEOREM If $H_1 \in M_{FG}$ and $H_2 \in M_{FG}$ then for the quadratic mean deviation of H_1 and H_2 we have the following inequality:

$$\frac{\mu_1 + \mu_2 - 2\gamma_1 \gamma_2}{90} \le \int_{-\infty}^{\infty} \int_{-\infty}^{\infty} (H_2 - H_1)^2 dF dG \le \frac{\mu_1 \mu_2 - 2\nu_1 \nu_2}{90}, \tag{3.1}$$

where μ,ν and γ are the nonparametric measures of dependence defined in (1.4), (1.8) and (1.5).

Proof:

$$(H_2 - H_1) - (H_{\nu_2} - H_{\nu_1}) = (H_2 - H_{\nu_2}) - (H_1 - H_{\nu_1}),$$

$$H_{\nu_2} - H_{\nu_1} = (\nu_2 - \nu_1)[\min(F, G) - FG],$$

$$90 \int_{-\infty}^{\infty} \int_{-\infty}^{\infty} (H_2 - H_1)^2 dF dG -$$

$$-2.90(\nu_2 - \nu_1) \int_{-\infty}^{\infty} \int_{-\infty}^{\infty} (H_2 - H_1) [\min(F, G) - FG] dF dG + (\nu_2 - \nu_1)^2 \le$$

$$\le 90 \int_{-\infty}^{\infty} \int_{-\infty}^{\infty} (H_2 - H_{\nu_2})^2 dF dG + 90 \int_{-\infty}^{\infty} \int_{-\infty}^{\infty} (H_1 - H_{\nu_1})^2 dF dG.$$

As

$$90 \int_{-\infty}^{\infty} \int_{-\infty}^{\infty} (H_2 - H_1)[\min(F, G) - FG]dFdG =$$

$$= 90 \int_{-\infty}^{\infty} \int_{-\infty}^{\infty} [(H_2 - FG) - (H_1 - FG)][\min(F, G) - FG)dF = \nu_2 - \nu_1,$$

we get

$$90\int_{-\infty}^{\infty}\int_{-\infty}^{\infty} (H_2 - H_1)^2 dF dG - (\nu_2 - \nu_1)^2 \le \mu_2 - \nu_2^2 + \mu_1 - \nu_1^2$$

and

$$90\int_{-\infty}^{\infty}\int_{-\infty}^{\infty} (H_2 - H_1)^2 dF dG \le \mu_2 + \mu_1 - 2\nu_1\nu_2 \tag{3.2}$$

hence

$$\int_{-\infty}^{\infty} \int_{-\infty}^{\infty} (H_2 - H_1)^2 dF dG \le \frac{\mu_2 + \mu_1 - 2\nu_1\nu_2}{90}.$$
 (3.3)

On the other hand

$$90 \int_{-\infty}^{\infty} \int_{-\infty}^{\infty} (H_2 - H_1)^2 dF dG = 90 \int_{-\infty}^{\infty} \int_{-\infty}^{\infty} [(H_2 - FG) - (H_1 - FG)]^2 dF dG.$$

Now Schwarz inequality gives

$$\left[\int_{-\infty}^{\infty}\int_{-\infty}^{\infty} (H_2 - FG)(H_1 - FG)dFdG\right]^2 \le$$

$$\le \int_{-\infty}^{\infty}\int_{-\infty}^{\infty} (H_2 - FG)^2dFdG \cdot \int_{-\infty}^{\infty}\int_{-\infty}^{\infty} (H_1 - FG)^2dFdG.$$

Thus

$$90 \int_{-\infty}^{\infty} \int_{-\infty}^{\infty} (H_2 - H_1)^2 dF dG \ge \mu_2 - 2\sqrt{\mu_1}\sqrt{\mu_2} + \mu_1 = (\sqrt{\mu_2} - \sqrt{\mu_1})^2.$$
 (3.4)

By inequalities (3.3) and (3.4) we get

$$\frac{(\sqrt{\mu_2} - \sqrt{\mu_1})^2}{90} \le \int_{-\infty}^{\infty} \int_{-\infty}^{\infty} (H_2 - H_1)^2 dF dG \le \frac{\mu_1 + \mu_2 - 2\nu_1\nu_2}{90},$$

i. e.

$$\frac{\mu_1 + \mu_2 - 2\gamma_1\gamma_2}{90} \le \int_{-\infty}^{\infty} \int_{-\infty}^{\infty} (H_2 - H_1)^2 dF dG \le \frac{\mu_1 + \mu_2 - 2\gamma_1\gamma_2}{90}$$
 (3.5)

Since

$$90 \int_{-\infty}^{\infty} \int_{-\infty}^{\infty} (H_2 - H_1)^2 dF dG =$$

$$= 90 \int_{-\infty}^{\infty} \int_{-\infty}^{\infty} [(H_2 - FG) - (H_1 - FG)]^2 dF dG =$$

$$= \mu_1 + \mu_2 - 2 \cdot 90 \int_{-\infty}^{\infty} \int_{-\infty}^{\infty} (H_2 - FG)(H_1 - FG) dF dG.$$

From (3.5)

$$\frac{\nu_1 \nu_2}{90} \le \int\limits_{-\infty}^{\infty} \int\limits_{-\infty}^{\infty} (H_2 - FG)(H_1 - FG)dFdG \le \frac{\gamma_1 \gamma_2}{90}$$

We note that if:

$$H_2 = \lambda_2 \min(F, G) + (1 - \lambda_2)FG$$

and

$$H_1 = \lambda_1 \min(F, G) + (1 - \lambda_1) FG,$$

then

$$90\int_{-\infty}^{\infty}\int_{-\infty}^{\infty}(H_2-H_1)^2dFdG=(\lambda_2-\lambda_1)^2.$$

In this case

$$\mu_2 = \lambda_2^2, \qquad \nu_2 = \lambda_2,$$

 $\mu_1 = \lambda_1^2, \qquad \nu_1 = \lambda_1,$

$$\int_{-\infty}^{\infty} \int_{-\infty}^{\infty} (H_{\lambda_2} - H_{\lambda_1})^2 dF dG = \frac{\mu_2 + \mu_1 - 2\nu_1\nu_2}{90} = \frac{\mu_2 + \mu_1 - 2\gamma_1\gamma_2}{90}.$$
 (3.6)

Here the following question can be posed. If we approximate the positively quadrant dependent distribution functions H_1 and H_2 by the linear combinations:

$$H_{\nu_1} = \nu_1 \min(F, G) + (1 - \nu_1)FG$$
 and $H_{\nu_2} = \nu_2 \min(F, G) + (1 - \nu_2)FG$

then what is the relation of the quadratic deviations

$$\int_{-\infty}^{\infty} \int_{-\infty}^{\infty} (H_2 - H_1)^2 dF dG \quad \text{and} \quad \int_{-\infty}^{\infty} \int_{-\infty}^{\infty} (H_{\nu_2} - H_{\nu_1})^2 dF dG.$$

We shall show that on the one hand

$$\int_{-\infty}^{\infty} \int_{-\infty}^{\infty} (H_2 - H_1)^2 dF dG \ge \int_{-\infty}^{\infty} \int_{-\infty}^{\infty} (H_{\nu_2} - H_{\nu_1})^2 dF dG, \tag{3.7}$$

on the other hand:

$$\int_{-\infty}^{\infty} \int_{-\infty}^{\infty} (H_2 - H_1)^2 dF dG - \int_{-\infty}^{\infty} \int_{-\infty}^{\infty} (H_{\nu_2} - H_{\nu_1})^2 dF dG \le \frac{1}{180} \approx 0.005.$$
 (3.8)

For

$$90 \int_{-\infty}^{\infty} \int_{-\infty}^{\infty} \left[(H_2 - H_1)^2 - (H_{\nu_2} - H_{\nu_1}) \right]^2 dF dG =$$

$$= 90 \int_{-\infty}^{\infty} \int_{-\infty}^{\infty} (H_2 - H_1)^2 dF dG - 2 \cdot 90 \int_{-\infty}^{\infty} \int_{-\infty}^{\infty} (H_2 - H_1) (H_{\nu_2} - H_{\nu_1}) dF dG +$$

$$+90 \int_{-\infty}^{\infty} \int_{-\infty}^{\infty} (H_{\nu_2} - H_{\nu_1})^2 dF dG.$$

Since

$$90 \int_{-\infty}^{\infty} \int_{-\infty}^{\infty} (H_{\nu_2} - H_{\nu_1})^2 dF dG = (\nu_2 - \nu_1)^2$$

and

$$90 \int_{-\infty}^{\infty} \int_{-\infty}^{\infty} (H_2 - H_1)(H_{\nu_2} - H_{\nu_1}) dF dG = (\nu_2 - \nu_1)^2$$

it follows

$$\int_{-\infty}^{\infty} \int_{-\infty}^{\infty} [(H_2 - H_1) - (H_{\nu_2} - H_{\nu_1})]^2 dF dG =$$

$$= \int_{-\infty}^{\infty} \int_{-\infty}^{\infty} (H_2 - H_1)^2 dF dG - \frac{(\nu_2 - \nu_1)^2}{90} \ge 0,$$

i. e.

$$\int_{-\infty}^{\infty} \int_{-\infty}^{\infty} (H_2 - H_1)^2 dF dG \ge \int_{-\infty}^{\infty} \int_{-\infty}^{\infty} (H_{\nu_2} - H_{\nu_1})^2 dF dG,$$

thus (3.7) is proved.

420

If (2.7) is also taken into account then:

$$\int_{-\infty}^{\infty} \int_{-\infty}^{\infty} [(H_2 - H_1) - (H_{\nu_2} - H_{\nu_1})]^2 dF dG =$$

$$= \int_{-\infty}^{\infty} \int_{-\infty}^{\infty} [(H_2 - H_{\nu_2}) - (H_1 - H_{\nu_1})]^2 dF dG \le$$

$$\leq \int_{-\infty}^{\infty} \int_{-\infty}^{\infty} (H_2 - H_{\nu_2})^2 dF dG + \int_{-\infty}^{\infty} \int_{-\infty}^{\infty} (H_1 - H_{\nu_1})^2 dF dG \le$$

$$\leq \frac{(1 - \alpha^2)(\mu_2 - \mu_2^2) + (1 - \alpha_1^2)(\mu_1 - \mu_1^2)}{90} \le \frac{2(\alpha_1^2 + \alpha_2^2)}{360},$$

where

$$\alpha_1 = \frac{\nu_1 - \mu_1}{\sqrt{\mu_1 - \mu_1}}; \qquad \alpha_2 = \frac{\nu_2 - \mu_2}{\sqrt{\mu_2 - \mu_2}}.$$

This proves the relation (3.8).

References

BLOMQVIST, N. (1950): On a Measure of Dependence between Two Random Variables. Ann. Math. Statist. Vol. 35, pp. 138-149.

Gumbel E. J. (1960): Bivariate Exponential Distributions. J. Amer. Statist. Assoc. Vol. 55, pp. 698-707.

HÖEFFDING, W. (1948): A Nonparametric Test of Independence Ann. Math. Statist. Vol. 19, pp. 546-557.

KONIJN, H. S. (1959): Positive and Negative Dependence of Two Random Variables. Sankhva, Vol. 21, pp. 269-280.

KRUSKAL W. H. (1958): Ordinal Measure of Association. American Statist. Association Journal Dec. 1958

LEHMANN, E. L. (1966): Some Concepts of Dependence. Ann. Math. Statist. Vol. 37, pp. 1137-1154.

MORGENSTERN, D. (1956): Einfache Beispiele zweidimensionaler Verteilungen. Mitteilungsblatt für Math. Stat. Band. 8, S. 234-5.

RÉNYI, A. (1954): Valószinűségszámítás. Tankönyvkiadó, Budapest (in Hungarian).